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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

1 Explain : (any four)

(1)
@)
®3)
(4)
(5)

(@)

(b)

(b)

Alternative hypothesis.

One tailed and two tailed tests.

Two types error in testing of hypothesis.
Test of significance of number of successes.
Confidence limits

OR

If a coin is tossed 10000 times, out of which it is
5195 times head. Then could say that the coin 1is
without any defect.
Test the significance of the correlation at the 5%
level from following data
where n; = 23 r; = 0.40

n, = 19 r, = 0.65

Write short note on F and Z test.

Two random sample are drawn from the normal
population and data are given below. Explain the two
samples are drawn from the same population or not
by using t test.

Sample - 1 24 27 26 21 25

Sample - 2 27 30 28 31 22 36

(@)
(b)

OR

Explain the assumption and application of t test
and give its utility.

A test of grasping power of 10 students was taken
before and after training. From given data can be say
that training was effective or not.

20

10

10

10
10

10

10

Student 1 2 3 4 5 6 7 8 9 10
Before 8 3 2 4 5 8 5 8 6 10
Training

After Training|7 5 7 6 3 10 5 10 7 9
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3 Explain the test of x2. Write down the properties and 15

utilities of 1it.

For 2x2 table

OR

prove that

- (a+b+cJra’)(aa’—bc)2

(a+b)(c+d)(a+c)(b+d)

4  What is meant by the analysis of variance ? What

15

15

type of problems can be solved by using ANOVA ? Explain.

Analysis of variance from the following and also test

OR

15

the difference is significance between four types of rice.

Types
Plot | A B C D
1 200 230 250 300
2 190 270 300 270
3 240 150 145 180
4 230 - - 250
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